

11/03/2022 11:00 AM | Install Day 1 11/04/2022 09:00 AM | Install Day 2 11/05/2022 09:00 AM | Install Day 3 11/05/2022 05:00 PM | Event Date 11/06/2022 11:00 PM | Strike PO: Shipping Address: Rolling Greens Downtown 1005 Mateo Street Los Angeles 90021 **424 Productions** 357 South Robertson Boulevard Beverly Hills, CA CA

Invoice Date:

Due Date: Upon Receipt

Salesperson: Angela Murelli

Description		Qtty	Price		Total
General					
			Total Gene	eral	\$0.00
Cocktails (Outsi	de Garden)				
	Perimeter Drape & Pullbacks White Bleached Linen	1	\$6,000.00	T	\$6,000.00
	Perimeter Valance - White With Pink Border double side for 40' x 80'	1	\$2,500.00	Т	\$2,500.00
	Boston Half Round Bar 12'D White with Blush Pink Details and custom painting with in center panels	1	\$2,250.00	Т	\$2,250.00
	Moscow Barback - White Painted In White W/ Custom Base to be Made Shorter for Kids Bars	2	\$225.00	Т	\$450.00
	London Bar 8'L - White White with Blush Pink Details and custom painting with in center panels	2	\$950.00	Т	\$1,900.00
	Palm Springs Loveseat - White Frame	4	\$175.00	Т	\$700.00
	Toronto Coffee Table - White Frame w. Glass	4	\$215.00	Т	\$860.00
	Hidden Garden Chair - Wire Circles	8	\$45.00	Т	\$360.00
	Palm Springs Bistro Dining Table - White Wire w. Glass Top 35"1/2 W x 29â\\ \(\text{\tin}\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\tinte\text{\text{\text{\text{\text{\text{\text{2}\text{\tetx{\text{\texi}\text{\text{\texi{\texi{\texi{\texi{\texi{\texi{\texi{\texi{\texi{\texi{\texi{\terictex{\texi{	5	\$225.00	Т	\$1,125.00
	Palm Springs Club Chair - White Wire Accent Chair paired with the sit down tables	20	\$85.00	Т	\$1,700.00

Description		Qtty	Price		Total
	Palm Springs Stand Up Table - White Wire w. White Glass Top	10	\$225.00	T	\$2,250.00
		Total Cockta	Total Cocktails (Outside Garden)		\$20,095.00
Upper Patio (Ad	ult Seating)				
	Frankfurt Dining Chair Flat Top - White Boucle	64	\$25.00	Т	\$1,600.00
	Madrid Dining Table - Gold Leaf Hexagonal Base 54" Glass Top	8	\$450.00	Т	\$3,600.00
THE	Dubai Sofa 8'L - White Boucle	2	\$475.00	T	\$950.00
	Fire Pit - White Semi Gloss	2	\$475.00	T	\$950.00
	Dubai Club Chair - White Boucle	4	\$225.00	Т	\$900.00
	Total Upper Patio (Adult Seating		ing)	\$8,000.00	
Chandeliers					
A A A A A A A A A A A A A A A A A A A	Chandelier - Budapest - Crystal 40" 40"W X 45"H - 48lb - 450 Watts	8	\$800.00	Т	\$6,400.00
	Chandelier - Rome - Large 27"W X 35"H - 28lb - 250 Watts	12	\$450.00	Т	\$5,400.00
Ü			Total Chandeliers		\$11,800.00
Reception (inter	ior)				
	Perimeter Drape - White Bleach Linen 90' x 12'H for the back wall, behind the LED screen	1	\$2,875.00	Т	\$2,875.00
	Perimeter Valance - White Linen	1	\$475.00	Т	\$475.00
	Tech Drape - White Bleach Linen for (2) areas next to stage	1	\$1,450.00	Т	\$1,450.00
	Dance Floor 24' x 24' White High Gloss	1	\$3,500.00	Т	\$3,500.00
	Stage Fronts - Boston w. Mirror 6'x24" White with white details	3	\$275.00	Т	\$825.00

Description		Qtty	Price		Total
	New York Bar 6'L - White Frame to be used as DJ Booth with custom padded flat front in TBD print	1	\$1,250.00	Т	\$1,250.00
	Plain Panel for PhotoBooth 4'x10'H plain panel painted white to create a 8x10' wall	2	\$450.00	Т	\$900.00
	Buenos Aires (5pc) Sectional Sofa Sofas - Buenos Aires - 4pc Sectional - White Suede (1) Left Arm (1) Right Arm (3) Center Sections	4	\$850.00	T	\$3,400.00
	Hollywood Coffee Table - Glass Top w. Zig Zag Gold Frame	4	\$250.00	Т	\$1,000.00
	Ottoman Pod 18"D white ottoman	20	\$45.00	Т	\$900.00
	Segovia Sofa - White w. Brass Base	4	\$500.00	Т	\$2,000.00
	Moscow Coffee Table - Mirror Top w. Gold Frame	4	\$225.00	T	\$900.00
H	Tokyo Accent Chair - White w. Gold Base	8	\$65.00	Т	\$520.00
	Hollywood Ottoman - Blush w. Gold Base	12	\$65.00	Т	\$780.00
	Washington Dining Chair - Gold Frame Back and Seat Cushion Cover: Off White Velvet	80	\$22.00	Т	\$1,760.00
	Las Vegas Dining Table 66"D - Blush Velvet Base	8	\$650.00	Т	\$5,200.00
	New York Bar - White Frame (2) for Kids Bars with custom padded flat front TBD fabric	2	\$1,250.00	Т	\$2,500.00
	Moscow Barback - Gold	2	\$200.00	T	\$400.00

Description		Qtty	Price		Total
	Buenos Aires Barstools - Gold w. White Cusl	nion 32	\$22.00	Т	\$704.00
	Nice Communal Table - Gold w. Mirror	2	\$0.00	Т	\$0.00
	Assorted Pillows: Mixed White throughout the entire event (client to provide additional NEW pillows)	38	\$25.00	Т	\$950.00
		Total	Reception (inter	ior)	\$32,289.00
Merch Store					
	Straight Barback 8'L - TBD color tbd color	2	\$275.00	Т	\$550.00
	Vancouver Bar - Mirror Straight 8'L TBD frame color	2	\$650.00	Т	\$1,300.00
	Shelves - Shelving Unit Cubbie - Small in white	4	\$200.00	Т	\$800.00
			Total Merch St	ore	\$2,650.00
2nd Lounge Are	a (Caramelized Buffet)				
	Custom Table Facade Behind Bars to camouflage the sink areas behind the bars Celio to apply florals etc Off- white semi gloss	2	\$1,650.00	Т	\$3,300.00
	Sofas - Segovia - White W/ Brass Base	2	\$400.00	Т	\$800.00
	Montreal Coffee Table - Gold Leaf	3	\$250.00	Т	\$750.00
	Ottoman Pod 18"D	6	\$45.00	Т	\$270.00
	Segovia Side Chair - White	4	\$225.00	Т	\$900.00
	Segovia Accent Chair - White	4	\$250.00	Т	\$1,000.00
		Total 2nd Lounge Area (Caramelized Buf	fet)	\$7,020.00

Description	Qtty	Price	Total
Services			
Balance Moved Deposit Payment Made on Inv#5266	1	\$-10,000.00	\$-10,000.00
Balance Moved Deposit Payment Inv#0005266 applied	1	\$-10,000.00	\$-10,000.00
Installers: Install Thursday to hang chandeliers	4	\$350.00	\$1,400.00
Installers: Install Friday	10	\$500.00	\$5,000.00
Installers: Install Saturday	10	\$450.00	\$4,500.00
Installers: Stand By	2	\$250.00	\$500.00
Installers: Strike	10	\$500.00	\$5,000.00
Trucking: 24'L	6	\$450.00 T	\$2,700.00
Trucking: Fuel Surcharge	6	\$65.00 T	\$390.00
Supplies: Misc	1	\$450.00	\$450.00
Manager: Onsite for (2) Days	1	\$1,700.00	\$1,700.00
Manager: Design & Layouts	1	\$1,950.00	\$1,950.00
Equipment: Scissor Lift inorder to hang all chandeliers in the ceiling	2	\$1,250.00	\$2,500.00
Custom Artwork: Hand Painting	1	\$950.00	\$950.00
Dance Floor: Delivery & Pick Up	1	\$650.00	\$650.00
Certificates: Flame Certs	1	\$500.00	\$500.00
Please make checks payable to Revelry, Inc.		Total Products:	\$81,854.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it		abor/Services/Misc:	\$8,190.00
		Taxes:	\$8,069.68
Notes		Discounts: Total:	(\$0.00) \$98,113.68
		Payments:	(\$21,500.00)
		Balance:	\$76,613.68